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ABSTRACT

A Study on Types of English Passive Constructions

Kim, Mi-young
Advisor : Prof. Lee, Namg—-eun, Ph.D.
Major in English Education

Graduate School of Education, Chosun University

The aim of this study is to introduce and classify the types of passive
constructions.

In the English language, the passive voice is used when focusing on the
person or thing affected by an action. And the passive voice is able to
deliver more clearly the speaker's intention than the active voice in
discourse. As it is frequently used in the discourse, many linguists have
studied the passive voice. Even though the study of the passive voice is
being performed from traditional grammar to transformational grammar in
several aspects, there are still a lot of problems. One of the problems is
that the understanding of the passive voice is limited. Generally, the
passive is referred to a grammatical construction. The object of an active
sentence appears as the subject of a sentence with passive. The subject of a
passive sentence typically denotes the recipient of the action rather than
the performer. The usual form of the passive uses the auxiliary verb 'be'

together with the past participle[p.p.] of the main verb. For example, in

_iv_
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school grammar, many educators put teaching typical form and the arrangement
of words before explaining characteristics that the passive has and
Situations where it is used. Also there are many other forms besides the
form "be + p.p + by agent; . For example, some structures that take the
form of "be + pp, don't have the meaning of passive. Other structures that
don't take the form 'be + p.p., , however, signify the meaning of the
passive.

There have been many problems in explaining the passive structure in
the English form of the passive verb phrase. This leads to confusion about
structures which do not correspond to the right form. Educators and learners
therefore have difficulty teaching and learning the passive perfectly.

As mentioned earlier, there are various types of passive constructions
that have their own features. Also, many linguists have mentioned that the
meaning of the passive is different from that of the active in their
studies. That is that the passive is not derived from the active. And each
Structure has a different deep structure. According to this point, the
passive and the active don't have a structure that has a one-to-one
correspondence. Therefore, it is reasonable to analyze the passive by an
independent type. Although, there are a lot of studies for this, the types
of passive aren” t classified perfectly in their studies. So the aim of this
study is to classify the types of passive by syntactic based on the findings

of many l|inguists. And the types are organized into 19 different types.

Chapter | describes the aim of this study and introduces the
definition of the passive. Chapter |l describes the characters of the
passive structure. Chapter Il classifies and describes the types of the

passive are classified by syntactic on the basis of many linguists. Chapter

IV describes the summary of this study.
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With this, the understanding of the passive constructions will be good
for student by recognizing the various forms of the passive. Furthermore, to
make it easier to reach practical use, the more efficient teaching methods

should be suggested than some ways how the learner gets learned by rot.

_Vi_

Collection @ chosun



—

=

LA CHebet Dls

2

Ch &
2ot ESEEUA AIFEN 2

e 8
=0HO2 0|R0XD ASLE Of

==
S S

NE

FXFQl SIS0l (et

2

A 0o o
ss72e

S0 0l A

0l

s
o’

H

KM

HAZ 0 OIZ2I(ItKI ¢ed IJtXl

[ Xe)
= —

-

<0

Ju
)

010

)
ild

JU

Ct

ild

EHet =

=
=3

ol
1]

HO

-

110
<t
0d

iy
s
Ju

oI

o

i)

JJ
z
1o

gl

Ct.

AN

o

BHL=0 oedss Al

e

ild
o

o’

il

JU

n
110

190

ol
ild

40
<+

80

Ol X

F

—

]

X

L SAt

@]
wW=0lA
2 LIEF

=)

=10

ot01,

| Xt(agent); 01210 O
[e)

EH (active voice)= S Al

el

(nonfinite form)

-~ éo:l

o

b

Oldg go2 =s=0les O

199tX1 2

| QAEORN 4S7

"be + p.p.. EEHHE FIGHX

e + p.p., o EHEHE F5tD

o=

ZS=El(passive voice)= =SEHS

B2
=

0l ATk AHOICH.

St

cCc
=
S

. -4

o,

) 2

o

Tbe + BHEAHp.p.) + by

=40lLt 9al,

2

0l

=
[a—

ol CH

+

H X

[e]
L
=

=
[

FH2 AH(past participle)ete HIE

INISPN

=

=2

(finite form)@2 LIEHH D,

EHel ==+

°|0l

=39 20IE ANU=

[=:|
IS

b

S
5t

=L
ST29 02 I 2
Ches

i

9]

0l
Kl
(s

ol
By

Ju

=S
[

ci ol

ol

s

LIEtU =

ol
fil

-

10

ol
Rl
1l

il
Ju

HA DX &

0

=2
o|0l&tel FEO0letII 20t

At
S

F(direction

=131
S

o

=010l CH

Eiatel 22010
of the action)Ol besS A2 WAHEAS HE2Z UEIHOZE [ HIZ2A ~SEHet

H
S

Collection @ chosun



1 BtCH(Jespersen 1924;168). Zandvoort(1957:53)= #=SEi= 2l0]4a E0| Of

Lict EEHASl REZ M "be + EFSAI2l WHEA, JF 2EC| =00 2IoH 2l
& SXE UEHHOD Zo5HACH

BE #sHes SHEAHE JHAD A= "F0(S) + EFSAHV) + SROU(0), &2
o JEdEeR 20l A=l Ol 2N Z2Es =0l s&H2 &E0| 0l dot=
=M B0 SRA0 =&Hs %= [ YMECH ol O3 (1) 28 (1 )
SHUNR her family portraittl =S S0 01E F=O{A2l0 ?IXIAIZIL2 Ol
SS2 SAIE  Tbe + EFSAISl WHEAL, EHZ BHEAILD FHJALY Jennys

&

I Xt(agent) SEHZ H3IH (1 b)) 2FO0| ST,

O
<
0

(1) a. Jenny painted a CD her family portrait.

b. Her family portrait was painted by Jenny.

(2) a. Julie gave me some exciting work.
b. / was given some exciting work by Julie.

c. Some exciting work was given to me by Julie.

(2)2 HEe 0=Z=2ENUE KD Us ssSE2=2 (2 a)9 A¥=HY
(indirect object)E =0i2 & == F20 (2 b)0ol1, (2 a)d HF=SH
(direct object)E =722 F0& & 210l (2 ¢)0ICt. ez HESHOLH0I
SO U2 MY = JAJAXILH =2 E HMIIH 2™ AESRUHE =SES

FUHZ MOIH ZIACH. Jespersen(1933:120-122) 01l 2latdd Ol= AIS2LCH QI2HS
=QRAl oldde FE MR0l2tn ZSHCH. S8 Crume(1935:127)0 MEH H 09
&

AN
OIZSH0 2F YR 09 20| & I B
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b. The doctor was speedily sent for.

(5) a. He was killed in the Boer war.
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(6) a. He was elected Member of Parliament for Leeds.
b. English /s spoken in U.S.A.
¢c. Sugar /s sol/d by pound.

(7) a. A car ran over his daughter.

b. His daughter was ran over by a car.

(8) a. Lightning struck the house.
b. The house was struck by the lightning.

(9) a. Those pyramids were built around 400 AD.

b. Too many books have been written about the second war.

4\_
Z0Q! His daughterdt ZXS 240|Ct. (
(8 D)OIAl BIOHE U2 The housedt ZXE= 2d0ICH. E£8F (9 a, b)OIAX

S SHOIt AL HXOAH O 242 A0l DD 018 2LAI2ID| <l =

o
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S7=20l AEEU= A0IH, dAXE 8 S26tA @
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(11) a. The vase was broken by Ed.
b. Ed broke the vase.

(12) a. This conclusion was hardly justified by results.

b. The results hardly justified this conclusion.

(13) Coal has been replaced by oil.

(14) a. 0il has replaced coal.

b. (People in many country) have replaced coal by oil.

(14 a)2 2&9 =0 o//0IN &= = (13)9 by 0//12 HIAXR

(14 b)Ul === py 0//2 TFE(instrumental )22 24 =L},

Rl
Jx
m
Paa
2

(15) This difficulty can be avoided in several ways.

st 2&2 #AXII gl +==7=2(agent less

passive)0l2t] ot0, O|Q 22 S22 Sole sS22 FUHE LI oE
Ct. X Q= £2=SR22 =S 2 (short passives)etDT dtH Thy + &

K(agent); JF Y= HLE==72(long passives)dt RPEEC}.
— 9 —
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o'cl)— AN
TZOHUA O EotH MEE=H Ole =s22AAHIt atits HANE FOH A2
2H 2 =0l S= X222 OISAAF==O, 2tef AR e 2t 206K

(17) Data were collected.

(18) Rather then dwelling unnecessarily on the cause of this Fiasco,

let's just say that mistakes were made.

WOZRH HHoH JtEE O, HA s

RlY

AR, AKX CHEE &A=& 0
b = [HOICH.

A
v
2

(19) a. Our grapes are usually harvested in late August.

b. Diagnostic tests are used to identify students' strengths and

weaknesses.

c. |t /s known that supercooled moisture forms ice.

_10_
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series of gratings was presented.
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(21) a. This picture was painted by Van Gogh.

b. This package was dropped off by a strange—looking women.
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(22) a. Mary solved the problem.

b. The problem was so/ved (by Mary).
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Ab(negative prefix)g@!

un—-2 FHE = ACh= AOICH. 0 EFAlE (24)HE =2 SEEA0 2= EH LA

(24) a. unhappy, unkind, unsympathetic
b. * Humans uninhabited the island.

c. The island was uninhabited by humans.

=z
it}

W, SEANE =52 SAIS

ot SEEAtet 2EE 210ICH. (25)2

02
ogr
fo
o
1

= UCH. 0 JIs=2 WIH SAIE Ol
[ ]

A uninhabited= B ARl js/and=,

il
Bl
o

=2

|
uninterrupted= performanceE #=4ot1 U= A

o

g = ULt

(25) a. The uninhabited island

b. The uninterrupted performance.

o

o 201 seemOlLt remainit

o Dl Ct.

AMZ, SEEAE =52 (26)2 H2UM 2=

20l Tl g=2ASS 202 I 2= SASS

HT
oIr
o
rok

(26) a. Leonard seemed /nterested in linguistics.

b. The performance remained uninterrupted.

umz, =sS32°2 very, quite, rather, mores2 Z3IAL

(intensifier)0ll 2o £=AIBIOH SHRZANE £2SJ2OZ =2 4 QUCH.N

]
¥
Rl
>

_13_
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(27) a. Leonard was very interested in linguistics.

b. We are rather encouraged to go on with the project.
Ul JIX EHE2 (26 b), (27 b))l Ues SA ==&l uninterrupted,
encouraged= S EAIE0OIcte A& S Ji2l2ICh. DI S AH(base verb)2 2EH =2

AR 5020 MEANES (28)10 201 LEHE = ACHOI2E . 1996:15-16).

(28) a. inhabit : [+ V - N](=V) —
b. inhabited : [+ V + N](=A)

(28)2 REEZ TADIL SA ZAStE S MAE R SAE BHSIAIHA 8

AR HEES 20 D= 201G Ol 20M SAE =572E22 TALSH(23) 0l A
SAMNS OF 2 SAF Bt X 2= S4= BHHOICH. <19 SAE EE 012
He SEEMA =222 HE55201 EMGHA U=Cis 0 LEHECZ A
XAE HE o= by-phraseE FItot= W01 AEHHO|C.
(29) a. The building /s already demo/ished.
b. *(someone) already demolishes the building.
c. (someone) has already demolished the building.
2l HEZ(29)2 dSHoz AH +37PE2=z2 M zed, 9 H20UM =2

2 AX0l (29 2)2 =S 2S sSAR2E Mg M &5 LRE gEg = U
Ct. =S E22 MEMS e 2&2 (29 b)Jt OtLiet (29 ¢)¢ ok &tCt. Ol=

fanld

is demolished®l ZMR MII= AEIS UEIHD A G20 HEXHES UEH

S 220 229 AHE UEHYD

OIME SAN +S722 SH0|D HEANE +S722 MHH0l2s 2S U
=3

EtLHH, E@EAE S22 SAt7 gHie 2 "V + p.p.y 2O KON V=

_14_
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SME =33220= G2AH HAM(copular)Z2 224ED, p.p.& SA2 B20HZ A
2= gE2AM2 24=}2)

SEANE =722 EYS FelolEH not2l 20IE Ithe fFEESFA un—=
He = U =334 BHEAM=E BAE =460 UHEHE = UL SSAIE 2
HZ XD L= sSAS2 BEUHZ JIsg = ULH BH2A=E ZSHA0 2loH
salgts = QL. £t =TAEIE OIFHAIH Ol= AL HotH EE AL
d8s HA O, Est =720 U38cte s=+=01 =Moot %22Hl
by-phraseE S Itot= 2401 AEAHO|CH
2) Quirk(1985:1171.72)= HAHISA0 THaH 20l= gieU 20iet =HE HZot= JIsS *= sSAkdt

O 0l2{st AHSAN Hotk= SAES F SHZ LH SEIE AHSAHcurrent copular)2t A4S

ot

ZULE SAH JlsE HES LEHW=s Z0HE AH AHresulting copular)2F ot AL
* current copular : be, feel, look &
* resulting copular : get, become, grow &

_15_
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B0
Ok

ol
Ild

o
<+

U

ild
Ju

1]
o0
I

i

ol

40
<+

(H0
Ju
'}
oll

T

fill

il

KJ

ot
B
iy
0l
by
Ju
')
]I
180

ulJ
0

ild

KA

(actional passive)dt AEH4=S(stative Passive)2 =228 +

AOl ==(formal passive)S 2% C}

HAIA
ST

9| £==(notional passive)}

At
S

0

Ju

gl
1

Ki

Ko
a0

!

ild
180

I

D

ilo]
()

iR

o0
I

190

ild

o

(transformational process)

Ly

ilo]
0

o

=
=

°|0l

=L

IFRALL,

=
=

ol
180
Ok

ot A Ct.

Ol 199tXl2 &Ll

ild

40
<+

Uk
i

0l
Ly

Ju
AK

]I
180

ol
ujo
<

be + p.p.

1.

180

1

Ct SEH

H

ill

ol

-

20

ol
mc

—
=51

OF

> 5
=g

I A2 AH(past participle)2l

a2 F2E0ICH

=

-

o
i
i
3
oll
3|

o]
ild

4o
<+

U

HOll [Ttk &fEHE LHERY

o8

o3
A
<+

oll
3

ild

(30) a. The vase was broken by Tom.

b. The house /s painted every year.

c. These birds are seldom seen in England.

d. The door was shut at six.

e. Here in 1823,

the Indians were surrounded by the English.

_16_

Collection @ chosun



?l O20IAM (30)0A breakct= SZ0I Tomdll 2o oMLt S&S LIEHU
M (30 b)& paintcte SH0| HE oiXl= S&HS EAISCH (30 ¢) DAl M
Ol seetl= S&S UEHCH (30 d)lIMd= shutE HEHE LIEHHD (30 €)=

surround=l AEHE LHEL

c
a

otXIEt Ol =32 HWSZAHE IHAXN 210 HAXNE SIEotXl

(=]

(31) a. My report is finished now.

b. | have finished my report now.

(31 a)9

MO

a2 ool¥ez ssE0 ottt ol= (31 b)et 21010t &L, 0
HE0IA finished= &tEH(state)S LIEFHCH OIME AEHE UEHH=E STHAIK
o =72 ZU2 El2E sSHA 2010t Eh. €7 =5+

HAIHIOIA S2/Hel 220t A=l Os HEsS 24X,

(32) a. The job was finished at two o'clock.

b. The job was finished at two o'clock (by Jane, who had just

arrived).

c. The job was (being) finished at two o'clock (just as the clock

was striking).

12 KI2(32 a)= &t SA 2DIE =1 JA2M 0l AL =S E0ILC.

groF SI0IJF "LHOF &= &S

al
=
2
1J
I
=)
M
50
$Q
Q
u
I
roh
Q
e

=)
4

[
rlo

HEESY =S7E0ICH SHXIEH (32 b)2 (32 c)E AHEH &<
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Ot ARZOILE &
S

40
10
_{
é
o
0g
I
_O'j
x
[
m
[
>
&2
rr
oy
40
02
4o
>
£
rr
e

-2 (agent less
passives)Ol AFSECt. L& HLANECH FHE 2EGHH A2 2=z FO0A
SH, Ol= =32 EHE XLIXIg FASH 90]
elez oA == E(pseudo-passive)ct) H

. 2Ab =S 720

02
ron
a
o
o
ron
oY
40
=2
o
Ja
ok
HT
a
Rk
]
=2
il
62
Mo
10
=)
i
AN
a

(33) a. We are getting bogged down in all sorts of problems.
b. | have to get dressed before 8 o'clock.

c. | don' t want to get mixed up with the police again.

(33 a)= &EHQ &, (33 b, c)= SHS ZUE LIEHH=O 2 WS 22

rr

=SR2 SAF 2XAE EXTES py + SAXIF H CF M2}
HOICH Leech & Svartvik 1975;259).

"get + p.p., = SH ZLE HEHS HIHE HESHH SH

Om
>

tete

HU
>

}

00

T4 QXIS RAlotes AteH= At(comprehend, know, understand, etc.)2t=

ol

M
MOIX 2l TS (34)2 CR0AM firee SEHESAMZ be-=SR21 get-+==
F20 2F ASZAX D (35)2 WHESUHM knows AHSAIZ pe-=S220l=
AL KB get-==S 20U MHE AI2D X $=CF.

(34) a. Jerry got fired because he was always late for week.

b. Jerry was fired because he was always late for work.

_18_
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(35) a. Nothing /s known about the thief.
b. *Nothing gets known about the thief.

ot ESsttts B0A  "be + p.p.s 2 SAITEI HEHSHS +=SQI0l Btol

"get + p.p., = SHSHYY =301t & = UL, U3 HES 24X,

(36) a. Our house gets painted every year.
b. John tried to cheat, but he got caught at it.

c. Their car got stolen in front of their house last night.
|= AMEHSl Bigl, (36 b, ¢c)= &olIAH AL S

olgf 201 MA=s sHES 25 HEEY == UKL get2 AMEE (37 b)s SH

(37) a. The window was broken.

b. The window got broken.

be-=SA2UHANME get-==1E2E 20l =2 &M sS=0ICh. Hl=
et == SE0lA get=2 becomes 2l0lotL] FO 2At SEAHL [Het=2Ch.

(38) His explanation is getting comp!icated.

OI2(38)2 WHEAL complicateddt U= SHOA get-2=SRE222 0| Xt

A O
BLREEPVN

AMZ 0l= ESA0ICH. OJIA SAtget2 becomingOILt coming@ & HIZ

ol
PN

D Ol AEiLE Z=AS LIEHHCH DM (38)2 622 (39)2 Hi3RAH & =

_19_
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(39) His explanation is becoming comp!icated.

SHXIZH get-=S7 22 (40)2 H2UHNHME HETRES XA U= AdsS HE
olJ1= ot=0, 53l (40 d)™ME =0 S == eSS HESGHIE &

(40) a. Tom got examined by specialist.
b. The mail gets delivered everyday.
c. My letter got publ/ished in the Sunday Times.

d. Jane got promoted last week.

T get-=ESAE2 be-==7=200 dloh O SZHO0ILE H=EEX &

o

ot
=

e
a

e

I M

nio

(41) a. | got hit by a car last night.

b. | was hit by a car 5 years ago.

Ch. OIZ2 S0, SHXQl ZZH(get hit), eoll(get trapped), Ol=(get

snatched), 2l HAIFQI 21Z(get punished)Z2 20| EH=E=2| SAIED &N

_20_
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3. become + p.p.

Crume2 become-=ss722 A= ®AILQH 0] Y

g0l M0l =720l =HUCtLD Lotd YLK, getd

Liet &lo] &l (ingressive force)S EESHLID
A

(42) a. The two become well acquainted.
b. | am becoming tired.

c. She became engaged.

d. This newspaper has already become widely read in this

community.

e. She become seized with a profound melancholy.

"

(42 a)OlM acquainted= (2
tired=s T=28t &EiD AIE &
YSHCEH. (42 d)OIM  read=
seize= 1HIt 22

Zandvoort(1957;57)=  getdt  become?  XOIE

(durative)@l XtoOlet FCH.

.

B

201 Zal £Adi Xl

roh

(43) a. The whole world is rapidly becoming Americanized.

b. They got married in 1995.

c. *They become married in 1995.

_21_
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CIDH)=XIOF & E D)
, (42 c)0IM engaged= 14t

EALEHON BEXIDI AIEEIS 20

1931:442-447)..
to (42)2 o2

INES



(43 a)0l22 29 become2 Y S&O| XMMUAFS LEIHHAH XX2 HES
H&ot=dl etoll (43 b)el ol2el getE Ol
become2 'EICt'2t= 20IE ©O XAMOl EZ&6tD JD X9 HEs 2D UD
IS0l (43 ¢)9F 20l 0/0] 2= SO o010l married? B M M0 0445
&0 &,

Poutsma(1926:100)2 get-==+&22 X0IE C33 Z0l &YstL J=d
"get + p.p.; = 'be + p.p.; & FPEGI HedE &2 =39 <0 25HA
LIEFLEXICE,  Thecome + p.p.;, & =& A
= Z10ICH. CHAl 2ot getE2 WHEALR ZES & M 22 20IE &4X &£
Aol 2HEGHA 2tAotD I 20 =5 ZsSA2AM HEg 20l its A0l
Ct. Zandvoort& "become + p.p., OlA becomeOl =cH IJtXILD U= SALSl 2|0]
£ U2 JNLD JALBZ FHol Qe p.p. ot &HLL ZHS HEot=s 2302

of|E® EXS =0t GHUCHZandvoort . 1957;57).

4. grow + p.p.

Jespersen(1954:111)2 grow + p.p., 2t becomingE= become to be2l =
2 ' A2 194092010 OIHRH growdt == LZSAt &S GtUCHD Loty
UCH. el Jespersene 'grow + p.p.y = 'become + p.p., 2 He ZE 2
OIOIALE grow accustomed?t €2 J<LE Motils 12l H0l MOIX= @&=C0
D ZHOACHE2F.2009:31). OtcHel (44)2 MISUAMME beECt= growns =
SANZ ANSECZ2M S0l EF 0IR0HX=E “2E ¢ €2 £+ UL

(44) a. He grew tired.
b. The class grew excited.

Cc. Her curiosity grew aroused.

_22_

Collection @ chosun



5. stand + p.p.

[e13
s

SEHUAME IA T2

oML 22

=
[

SHUHA=

=
sxo9

stand + p.p., = &

ol
0l

=i

(o)a]

9]

jan
=

ke

]
=

Ol A Lt

=
%:lIEI‘

H

=

O,

ot O
AN —

St XI2F Crume(1931:447)2

=i

A

0J

=i

(o)a]

KJ
ot
E
10

Kk

~J

o]
ild

40
<+

ol
s

Ab stand= HEZ

NS

A
“=

&.2009:32) .

CH=2

= 0 A

L+EFLH

(45) a. He took the key and opened the |id, when the cakes and wine

stood revealed in all their damning profusion.

b.

| stood prepared to repel any attack.

c. The meeting stands adjourned to five o 'clock.

d.

| stand corrected.

e. We stand committed to this action.

ol
s

!

ol
PN

ZU2 AH0IZt 2elol

EO'
= =

60
&)
oI

u

2 W2(45 a)=

ol

X2 (45 ¢)&=

b

iKJ

Ot

ilo]
R0

ol

ol
0K
KU

(45 d)=

o
K-

OICk.

HEUHAM AtSots

| i g
[

]I

-

20

)
-
Kk

Rr

11

= 00l

Jespersen(1954:111)2 (46)0l EH& 0l ==EH

(46) a. He stands accused of murder .

b. She stood convicted of robbery.

Cc. He stands condemned in the court.

d. We may easily stand excused.
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= 20I0ICt.

I ALCH
feel + p.p.

6.

=10 (= DA

=

ot Ot

ijd

457

Fstand + p.p.

M,

=)

of AI8EHE A

ot
s

T HwH

ild

40
<+

o]
ild

40
<+

-

20

ol

_

oJ

o3
=il

(o)a]

o)
Mo
RF

ill

ild

Of AHEBE /USH,

L

oF

X2 belt UIXE = U

b

(g

PN
F=SH=2 = HOA

J 0l|= standet 0Ot

LIl MZ0IC.

AN

o

A

£ ZO0t0F & Zd0ICH.

=
=

ol

&.2009:33) .

o

[—

ICH(Z

(s

PN
| had never felt discouraged at such a scene.

| feel indebted to you for your kindness.
| had never felt discouraged at such a scene.

| feel inclined to go abroad.
b. They felt moved at his impressive speech.

C.
d.
e.

02 JIXNZD YOI oA
(47) a.

Z A

Fol U= A

2=

(]
Sxg

S|0I=Z feelOlet

I==Ne]
= =

160

A O|l=
T MK,

(47)0lM &

A =S
EHE JOU=2

| —
[—

=2t

=

=2

At
(=]

1}
18
=8

Jio

i0J

ol
oll
3r

_

ioJ
A&
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7. remain + p.p.

oM
-J
BN
10
o
0gk
10

S2OtOF ot=0l, remain2l =0l

H, 0

= =&
g Ct, SXIGICH 2 20I2 pe2l St = AtoHCH
Ct. 0ell 0l ==& S0l &Ei(state)2 RI=4H
Fd20& Tstand + p.p.; ==SAZ0ILL Tfeel + p.p., =722 JR O+&
X2 BHEAM=E E2ARE 12 s2s 208 XU JACHD Bot: P256HCh

(223.1991:30 ). Chs W&

Tremain + p.p.; &

2
)

HL

A

nio

ASHOZ Axs

nio

Heg

==
44
HU
>

0

il
Q
o

nio

S Xt

(48) a. The mystery remains unsolved.
b. In every moment toward freedom some of the oppressed prefer to
remain oppressed.
c. The natural beauty of the country remains unchanged.
d. He remains dissatisfied.

e. The matter who will go there remains unsett/ed until now.

(48 a)= M= 22X 2= dHZ H0tUD, (48 b)= Y0l KL= &

8. appear / lie / seem / look / sit / rest + p.p.

appear= be2t UIXIE £ UJ| W20 (49)2 W20 AF=2E Tappear + p.
p.] & =SR2 FzE £ JALHAEHE. 2010:8). IS =2 (49 8 24,
(49 a)= OIS0l AME & AMEH, (49 b)= OS0| Aletd AEIE UEHUHDH SZ

b
o 902 &Eie 2oio S8 = A0l
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(49) a. The village appeared quite deserted.
b. They appeared disappointed.

O (50)2 MI20AM 2 = UAKO0l /iex p.p.2t Z2ESH =722 A

(50) a. Many pieces of furniture /ay scattered about in the room.
b. They /ie buried in the snow.
c. The robbers /ie hidden in the woods.

d. The fallen leaves //e scattered on the ground.

XNSNA 41 2 257222 RS 020 % Tseem / look / sit / rest +

FEo H=0 ZE AIZE = Us R2E HAXNU BIEDIt
Jel X = (O (51)2 GI20At 201 SAF AHQ £ 20 A 2AL &
EHE & O KNGl M=ol == IS ot = L.

(51) a. He seems satisfied with the result.
b. The village /ooked quite deserted.
Cc. He sat satisfied with the news.
d. The old man sat surrounded by strange people.
e. You may rest assured that everything possibly will be done.
f. He rest satisfied.

g. She can rest assured that he will come by nine.

OlX & appear, lie, seem, look, sit, restet p.pot SN AEE S22
S&g AZXols AEC MEN BSEES S0 AI2E H2010] 20 s=9 e
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HIIMR =722 0l JHA S0l 2ot0 Al 2ACH. 2ot 2=
= S ESAS o1&

=}
rr
2
I

9. havelhas] / had been + p.p.

2ZAIHS =57

MO

2 2ZAIH EEH2! Thave + WHZAHp.p
of JI2EEHQ! Tbe + p.p., It Z2EE EHZ OIRHXMH, =1 YL

01 Z#1 AL, = M= Thave/has + been p.p.; , WA= Thad +
been p.p.; It AL Ol= haved AlMl Btz REE &= JUCH (52)2 Hz2 2

B o JEie Q0IE & = ULH.

(52) a. The game have been created by the young man.
b. The information from the lawyer has been used by politicians.
c. Her family portrait has been painted by a famous artist.
d. She had been dressed for more than an hour.
e. The moon had been seen in the backyard.

f. Cheating has never been accepted by the school .

(52 a)0liMd= Aol B2 X0l sl SHSAHB = =
Blol 20t X0l 2ol ol12% 10 /Aese A, (52 c)= AW bR =&t

o
o

ro

SOl 2ol JeA&Ch= A, (52 d)= & Al2t 014 =2 2D JAJUL= A,

(52 e)= €01 20 X1 A/UD (52 f)llid=s SERAL StW0 LOtS XX
Eelle H22 25 SH0| doidl HE 2=SHIY A2 AACH
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10. be + being + p.p.
& - ~ote S0l UCH 2t 2ol=2, MSHAIH SHEHC! Tbe +
STHEAH(~ing); Ol Tbe + DHEAHp.p.), E 2

p.p.; 2 SEHHE H=0. UsS 2SS EX.

0

ogr

:OlA
= =T

Om
Bl
ro

il
=
v

SEH2 Tbe + being +

(53) a. A model of the house /s being made by my friend.
b. The air and water are being polluted.
c. A new business /s being developed by Mr. Jones.
d. Used books were being sold on the street by Paul.
e. A lot of fish were being caught in the lake by James.
f. The car /s being repaired in the garage by dad.

g. The wall of the street was being painted by the kids.

(53 a)= &2 20l FUAH HSUHXLD Y= =, (53 b)= I 20 <

S =, (58d)s =D M0l LM BHIOKD U= =, (58 e) 2 2IIS
O 320A ZHIOND As 5, (53 f) NHSAIF HDUAH 22X D U
D, (53 0)2 JHald =Hol HYE & €1 U= VS LIEHCH 0/ME MBS
£ET22 £59 SHO| My FYS X A0ICH

AEP22 UM ASE AW 0| BB SIS, WHH =220 =X
5101, OIHAIRI 20t OlLi2t CHEH 2012 2D U= TSNS +E72D 28
5101 LIEFY & UCH ZSAI SHO M2l ZEAHS b0l XG0l bes A
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O KD 2 ez "=SAH + be + p.p., OICH,

(54) a. My proposal may be accepted by the manager .
b. An E-mail must be sent in advance by Brian.
c. They might be attracted by her natural beauty.
d. These flowers can be p/anted next to the spring.

e. The deadline for reports should not be forgotten.

(54 a)Uld may= ==2 20IE I8 122 S0l pe accepteds ZEAIZ!
002 ZSAY £S5 20IE SAIO LIEIHCH (54 b)E SILE UEIUWE must
o be sent, (54 c)= FF2 mightet be attracted, (54 d)= Its2 candt be
planted, (54 e)= Z1°| shouldet be forgotten2l ZEOILL. 0§ 2F ZSAt

ot ==5HEL ZE2Z, £SAE JHXlE 242 201E IJtKle =S720ICH

(HH'

CHerad 1992:31). TS WIE2S(55), (56), (57), (88), (59)= ZS AL ALE

g 229 ss72(@)E =7 =2(b)2 ST LEH 210ICH.

(55) a. You can make the telephone call now.

b. The telephone call can be made now.

(56) a. The mechanic could not repair the car.

b. The car could not be repaired.

SESR20! (55 a)9 can2 & JH(permission)2l 2I0IE2 JHXID JUXIBH £=3
20z Mat=l (55 b)2 can2 Jts(possibility)2 UEIHHD QUL £ (56

could= s (ability)2 LIEFHSLE, (56 b)2l could= Jt=(possibility)el <
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(57) a. Will you wash my car?

b. Will my car be washed?

(58) a. You may ask me any questions.

b. | may be asked any questions.

(59) a. You must have finished the job before 5 o'clock.

b. The job must have been finished before 5 o'clock.

(57 a)o wille RA(request)2 2l0IZ2 JIXXIBH (57 b)) will2 =29

=
[

(inquiry)2l <012 =ICH. (58 a)2 may= dlJHpermission)2l 20l 2X| B,
(58 b)ol may= S&AI8H ==(uncertainty)2 20IE 2t=Ch. DAY S2 (59 a)

—/

o must= 2L (compulsion)ll 2I0IXICH, (59 b)ol must= =cl& EAM(logical

necessity)2l 2018 2=Ch.

0

ME ZSAIE AEE =322 ZSAIE JHXl= 2010 HEHHAM HSaot

dg8Es +=s7=222 UEE Hilese =S8 g8 =0 8N 2

=722 let + SHN + be + WHEAL, 2 HEHS Jt&ICEH. Otefie 201 (60

a, b)el 2E HYES s F20MN =S72E2Z HEGHH (61 a, b)2 HFO0l

0

OlDEﬂ
— S

5
o

(60) a. Do it at once.

b. Keep my advice in mind.
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(60)2
oI 0|t

't
229

S

E

[e]

T

let + S&8OM + be +

iz,

ol&tel
=

o|0|
Don't [Never]

Bz 2xsU
=A<

EHOF UL,
et + 220 + not + be + WHEAH, 2 ULEIHACEH.

=
=3

(=}

UCHH
=

O (61)UNME =3t 2010t &X
BN

431_:"_O|
O e i
0

=
o
2
(=]

=
X G
=
=
.

[

5

2
[

[—

[m;

S

Gl Ol
b. Don't let my name be forgotten.

c. Let my name not be forgotten.
b. Don't /et the door be opened.

b. Let my advice be kept in mind.
c. Let the door not be opened.

—

[—

}

(61) a. Let it be done at once.

(62) a. Don't forget my name.
(63) a. Don't open the door .

(o)
Ak 2

XH

SHXIB (60)
c =
A

I

]
oI
s

I
)
o)
pd

o]
ild

HO

(63 c)o =
MNZ S0t 2229 20|IJF 2 &2 A4S 0otLICt.

, (63

JEXID UCEH.

dec

5

(63 a)= &2

[m;

0

[u]
—

F

X
(63)2 HlEs =22

Ef S&l2 20IE

I.

A
(=]

tets

110

ol

ild

R0

0l
00

_31_

Collection @ chosun



(64) a. Don't overprotect your children.
b. Don't /et your children be overprotected.

c. Let your children not be overprotected.

ZdxAe A2 2E HA

Of S&s =1, (64 c)ME bek0ll Nots JHXLD 2 A2 Lets2 MISAMZ 21

(65) a. Did he write that book?
b. Was that book written by him?

(66) a. Did he make the cake ?
b. Was the cake made by him?
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= £ JHAl MAIGHACH,

(67) a. Was he invited to Mary 's birthday party?
b. Was she killed?
c. /s English spoken in this country?

d. /s this table made of wood?

ZAL =2 AEE ZBR= Tby+AZ2AHSEA)theS AHFTH+LUAZAR?, Ol
Ch. (69 a)2 (70 a)= SA2AF YsE YRR xZ5P20z Mty H 2429

(69 b)et (70 b)It ECt.

(69) a. When did he build his house?

b. When was his house bui/t?

(70) a. What do they call this in English?
b. What /s this cal/led in English?
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20 (69

J| K

ol
PN

(=)
&2 F1

= 20/0

AEJE DA

=
[

[e)

oL
H

FAl Ol R &ICH.

+572 of

¢}

5

| 2018&0l O =€

o
250

(I

LH
=

OICk.

o=
[E—]

(71) a. When was the tower destroyed?

b. What can be done for the children?

c¢. Which was chosen?

d. What was made by them?

e. Why was he invited?

Al 2CH EFOF &M T

I
ot
3
=

]I

}

b SRl EH

JF
0l

(71 a)

9]

oll

oI
o)
ok

=
1o

ol

PSUHB=AX,

£30l

oft

S0l <

(71 d) 2
. =32 20l 22 A2 20 EE

eIxl,

1 LHEHH 230IC.

—

ol

e

=
[=)

(72) a. Who broke this window?

b. By whom was this window broken?

(73) a. Who broke the vase?

b. By whom was the vase broken?

A =T

9]
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S el SHME JHNLD e SAts U 0UHAM S X =S+=201 Jts
still, 282 AESHOIt =722 F0It XL, AEIHON Lot =5+
22 =00t JIsdttis A2 018 248 =37 &0Ick &Ct. ot (74 a
b)E 22 =SR2 HtRH Otefl (75 a, b)2k 20| M = U

(74) a. The old woman gave a piece of candy to the little girl.

b. The old woman gave the /ittle gir/ a piece of candy.

(75) a. A piece of candy was given to the little girl by the old woman.

b. The little gir!/ was given a piece of candy by the old woman.

£ER20/12, (75 b)= (74 a)2 2™ =2HOQ the little girls £=S329 F
oz & 2&E £=S3I20ICH. Ol &E SEN E0oF otLlel 2ESHNMH s&S
SE W22 Jespersen(1933:120-122)0 2I6tH A2 ECH QIS SR Al o=
A& 20lctD LMCH. E£8F Crume(1935:127)2 & JHAl ER/9 £=3=2sS 2

FEl
!
HITI
=
n
Ko
ox
>
_O'j
IT_]
0
02
g
>
E
4
0
o
ry
>
ol
_O'j
rir

E = W 22N &

o
Ol OldtXIck= HEHOF 20k SFRULCE.

(76) a. Sandy handed Bert the note.
b. Bert was handed the note (by Sandy).

(77) a. Sandy handed the note to Bert.
b. The note was handed to Bert (by Sandy).
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| gave a book to John.

| gave John a book.
b. A book was given to John (by me).

b. John was given a book (by me).

(78) a.
(79) a.

g

[m]

11O
o)
pd

o]
ild

40
<+

]I

i0J

Kk

ild

AFSHOE 257

Ol

(76 b, 78 b)

(77 b, 79 b)=

(b)ol G222 LIEFHC.

2F
=

<+
RD

KM

i0J

Kk

ijd

4o
<+

]I

PNPSE==wS|
il — R R |

“=2011,

=S
- =20IC}t.

A
T

KD

t

2
(-

i CtS O

0l

H LOtED] <l

0l

ol CH

=

gtCt

=

Investigators throughly investigated the accident.

b. The accident was throughly investigated.
b. B/// was watched by John.

(81) a. John watched Bi//.

(80) a.

ol
ild

H0
Jio

(80 a)2t (81 a)<

18
28
H0
Jio

18
28

X EHGILCY.

Ct SIAMEE0N AN O

=
T

Mol Hli==otAl LHEt

o« 8t

MO0l2, 20|

}

SH0|D BEGHI SIME HEE = U

/| T

EI10 Ol ed

J

ioF

o

i
r

Ju
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15. A =S72

OlAl == &(Pseudo Passives)2 'F=0 + ASAH + 8XAH SFHH, o 22
AN XA SENHZ MO HAF ES0HI =222 =00
Ct. Ol T TSAF+ &XIAH O H=0AM SAlE =S€0| T D AIIAE H=E=E

SI2=CH. Ol MXAIESAIS 2=S32=(prepositional passives)OletD T &HCFH.

Os WSS £HEH (82 a, b)= sS7E220 018 +=s7E22 M&6tH
22 (83 a, b)2 Ol201 EIC.

(82) a. Someone has slept in my bed.

b. Everybody laughed at him.

(83) a. My bed has been slept in (by someone).

b. He was laughed at by everybody.

(84) a. Tom was spoken to.
b. John was taken advantage of.
c. She was taken care of.
d. Nothing was agreed on by the committee.
e. He must be talked fo by someone.

f. Harry was cared for.
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ZOICkH.

(85) a. For many years we relied upon the seat belt for safety in
automobi les.
b. One or more than one member of the household s/ept under the

net.

(86) a. For many years the seat belt was relied upon for safety in
automobi led.
b. The net was s/ept under by one or more than one member of the

household.

Of HIZ20A =2 = U= A 20l A =722 XA SHOIL =St
o =02 A8Et. 08 & 5

a
O s sth= Z0AM X019 X, HXIAtS] 8A0A XKoo AUCH

>

OlA EXIAFR upon the seat beltdt SAF rely2l E=0(complement)

-

Ol BtBd (85 b))l AR MXIALTR under the netOl £2JtX (adjunct)l JIsS &t

(87) a. The light was turned out .

b. This question will be dealt with later in the book.

¢c. This lake should not be fished in

AR AL

1l

2 W2(87 a)HlAl turned outl oute FXIARRHIECH LE9|

(adverbial particle)OlZd, (87 b)2 deal withl M withe deal/lt Z& 60 oLt
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of SAMHYE QAlE= FIXIMOICH. £8 (87 ¢)2 fished inGIAM inE SAkel
fishetel 2EEE0eE F0l 2= this /ake?t &M otLtel EXIAL £ S Hot™A
B RAZAM 0led 22 2JI0l |Ate 228 JHOLD 22X SAE 8301 A

2 U2H(A&S. 2009:451), (Takami. 1992).

16. by 0122 CHE &EXIAII} AIEEH=E &

Ct. by0l212 THE EXIAME M= Olres &XIA JHXI= 2122 20|

Jl =20ICH O3 HE2=ss 24

a. at, to, on

CtE (BB)OIZSU ALZE at, on, to2h &2 HIAMSS SEXNSHIIAZLD
g = Y=0l 0lg 8XMSO0| =S220A bythel AAEEZUS = R0 2
st SO0l OfLlict S XRt0fl CHE HSOILE AEiZ GHAGt= B0l RrHAZCE,

(88) a. He was surprised at her conduct.
b. He seemed surprised at the strange sight.
c. She is married to a fire fighter.
d. My name is known to everywhere.

d. The town is situated on the hill.
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b. with, as, from, off
(89)2 with=e =2 TF, =2 EAlot)| foi M0l (90)2 with= otx, 2

g, 28 S UEHT.

(89) a. the room was filled with toys.

b. It was killed with a hammer .

(90) a. The student were bored with eating the same food.
b. | am disappointed with your poor service.
¢. The queen was pleased with her magic mirror.

d. | am satisfied with his short answer.

(91)9] as= XAZ UEHHE 2012 AMZZJACH. (92)2 fromdt off=
MXIAIZ (92 a)l from2 HsSlole QDI2 AI2ED, (92 b)) offs
LI, 2cl&= S92 2012 bpytial At=EIC.

ry
0
S
oo

59
=
N

(91) a. She is known as a famous actor.

b. He is known as a famous in Korea.

(92) a. Glass is made from sand.

b. The cup was dropped off the table.

(93)2] of= ACIAMEHE LIEtUWE SAl-beloved, scorned, admired S-2| %0l

MEE= ZIt 210 ol TetA by2t ofIb & A0101< 8.

(93) a. He was beloved of all.
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b. She will be hated of all man.

b. | am convinced of her honesty.

(94) a. Internal contradiction can also be seen /n the following
example.
b. This matter is further discussed /n chapter 4.

c. People are interested /n the book.

d. at, about, into
(95)2 MI20A at2 =2 Zd2 HAasS 2Uoll +=SHl FHol 20A &dl, &
LIEFLHCE.

()3 L
=, T

Rl
on
o

(95) a. | was enraged at the result.
b. Tom was astonished at your behavior.

c. He is rejoiced at your success.

(96)9l aboute AH, E2, (97)9 jnto= HE ABHOIAM £ CI2 AEHZ A

INE=SEA Alot= 210Iet 2 = ULH

rir
nio
H
rir

)

ol

(96) a. He is worried about his health.

b. They are not concerned about it.
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(97) a. It was first introduced /nto philosophy by Mr. Charles Pierce
n 1878.

b. A proper name is turned /nto a common noun.

17. 20l&2 +==EH

(98) a. This paper does not tear straight.

b. This paper /s not torn straight.

(99) a. The bread doesn't bake well in this oven.

b. The bread /s not baked well in this oven.

012t 2H Zelkl 2=0les 242 20lotl 0l =02 42 U

—

©
(03]
£
rir
ORA

EfLHZD UCH. £ (99 a)%0l 2LE0HAM & AKX Esl=s A 2didt=d &

e
0
q
0o
o
o
ol
=
kel
r
roh
Q

ARl wel /S SEHOIHEA = =S&
S2UEHE ANSol= SAZE= stand, play, begin, marry, sell, read, open,
close, change, clean, peer, tend, show 0| U=0 2 0| R0U= =722

CF HEMS MY USAZ HS [ SA0l 26t ZE8EHEsE S&2 F=HIt M
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£ U2C= XoIoF JACH Jdth =20 A
Mot SEotX &1 20 NsSAlE Mol 2&Et= 20IH0A AHE SLotH

x

SAE LEtWE S&29 F=

HU

£ 2= QU Poutsmas Lot QUCHH. Poutsma, op.cit. 103).
CHS (100)2 G201 MAIE el SAISE2 XNSAH &2 6l S2E SAR

te =SH JIs€ € O

ro

m
0f
>
I
ol
o
ol
i
1
0

g = UCH

(100) a. He married. = He was married.
b. His shirt dried in the sun. = His shirt was dried in the sun.
c. The room f//led rapidly. = The room was filled rapidly.
d. He stood against the wall and was shot. = He was stood against
the wall and was shot.
e. This wine /s selling aquickly. = This wine /s being sold

quickly.

(101) a. The door closed.

b. The door was closed.

Celce-Murcia®t Freeman(1999)2 Z=2tEHSl SAIES G811 20| AMEHBHES S
A2 REGID SHEHE F=2 AN AgsteXl O M0l CHol 2Y6I%CH. Ole
CE WEs MAIGHHAM SEaCHARIZ. 2011).
SZHEH AIRSE2 FMZ A HElo 'S F
ol iU = MOICt. Ol= (102)2 GI20UA 2 = UKXO0l, 201 A 9Al
ol g SBHELH

S
A

4

0z +>
1o

2

rir
MM

EH

=
(@}

Dol
o

| &

$0
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(102) a. The store opens at 9 a.m.

SM, ZXL XS 2H0| 0IAHCIoHHLE 2AFBE 22018 HEE
(103)2 GI2UANME =201 2XD| Sl 2EE 2A0IE UEH 01T

(103) We were sitting quietly in front of the fire when suddenly the

door opened.

AW, =00t ARHQl 2eIt= A0l WXIAHLE =)L BatEs SHE e
SEHY M=, (104)2 o
ot 2.

0
2
x
o
Ol
x
=
oy
>
N
m
=
0
N
1
T
ro
ol
=
ro
o
0

(104) The red ballon suddenly burst and scared all of us.

S, (105)0A 2t 201 SelXE-Ate&-Aeld 80| &8

otCtD) 4{H4ZE [MHOICEH.

t4 &

tol 2ol g

o]
tol

(105) Mrs. Smith's opinion of Ronald Reagan changed.

CHA R, AEHEESISl R0l MBI USSR ZOtM otLiel eiXetez Ag36t= A
0] QAE Lo £ As HLRZ (106)2 W20A 2 3= ULt

(106) Prices /ncreased.
OHXIgtoz Z2HEl SAIE2 F02 E42 LIEHUsE AR 22 Jl=&0 B

(Jespersen, 1933).
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(107) a. This dress washes better than the blue one.

b. His books se// very well.

-

KU

wl

JU

B!
LS

KJ

o
0
ar

1

(107)2 o=20AM (a)=

ot

LIEFLH D

Oletgt S2HEfRt

]I

-

<0
1

Al

HBAEZ LIEFLE

H oLt
HOl Ol Ot Ol=Z2 €0

o

I Xt

He AR2Z0l =201 2

=SS

o

PSS

=
[a—

0

Ul

Bl

of g

At

H

=

-

<

1o

40

ol
0t

00

(108) a. The window was broken.

b. The window was broken by the gang.

¢c. The window broke

d.

*The window broke by the gang.

[019F A1 (108 b) Ol A

= O
=

201 H™CH

=
O 2=

Ol Tt

Xt
=]

ol

AL=0 2

o
Iél-@

ol
—

ild

FH AFA0I CHAE

[e}

I

|01 XIS (108 d)ME by-#AAXE

of M&C= 2

=20l 8120l =Ct.

[01JF Akt XDl [H

= O
=

Ol =t C

Ql
=

m
<+
00
0

"have (make, get) + 280 + p.p., 9

01(2002)0 (=® 0 =722

e

un

ALSEA =320
o SH0ZA I

=
=

e p.p.ea FOH2A =02

Rr
Oir

0l
s

Ju
')

]I
180

H A2l

0|
K CE,

=8

0l
s

J
Gl
KD

KM

]I
[

10

0l

et 20IE

ot=

100

T

2
[=]

ST

st

0= ©X e

g Nun, =

°|0l
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o3
<+

el
UE
IH

1 2l0iol et & JHXZ

0l
(H0

0
&0
i0J

—_

n

ot

ild
4o
<+

100
R0

| want to get my photography taken.

(109) a.

b. James had the house painted.

c. Susan got her nails done.

d.

| had my bag carried by the porter.

o2 SAt get, makeXtHMI Ol < &O|

AL (109 e)2t 20l

A

J
I7e}
KA
~0
ol
of

ol

f12 H&(109)= =0

=
I=3

HAXt, 2

Ty +

[e13
s

Jb LIEHLEX]

K-
Kr
(H0

L

FOHXA =,

= 20l Ot

Okl Al

9]

ild

| had my wallet stolen.

(110) a.

b. She got her coat soiled.

c. She had his house burnt down in the fire.

ioll

12 ol=2(110)2

AHOll S &0l

=

S 2 2 I =32

=

ol

ol =+

O XA =

m

o

H

ol
ild

40
<+

i0J

(111 a)e 2R my wallets FOHZ

o
xr
IH
Al

)
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(111) a. A thief stole my wallet.

b. My wallet was stol/en by a thief.

Metd ?12 Es=2 F00F £olE

00

e 28 0UA 2014 572200 &
= A0ICt. O#dl 0148t Thave(get) + SHOM + p.p., & =SH20UAM 2Al
(stress)2l fAXIIOF 2012 HIE IIHSCHLD Crume(1935:232)2 AZFMCE. = He
has his work done.OllA hasOll ZMl(stress)It @™ 0l 2&EE He employs other
people to do his work.2l 21010t ©It, doneOll 2 AMi(stress)It @™ His work is
done.2| 2|0|Jt =Ch.

c. U =372
LIXH ==+ ZE(concealed passives)2 =&722 20I€ IJHXe= need,
require, want, deserve St €2 SAS0| &M =22 OtUXIE =2 2
01 JtX3D QI W0l 20l =87 222 20, 0l i SAls EHEAME
(present participle)& JtKID QU 2& british Englishold BIHGHH AtEE
Ct.

(112) a. This essay needs careful checking by the editor.

b. This essay needs careful to be checked by the editor.

(113) a. My computer needs repairing.

b. My computer needs to be repaired.

(114) a. The culprit deserves punishing.

b. The culprit deserves to be punished.
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"to+be+pp., 2™

HCE.

(114 a)el jng8le 2=

(114 b) 2t 2010t

(113 a),
(113 b),

(112 a),

g0t (112 b),

? =S

190

ild

o
i0J

ild

[m;

(1985) 0l

<+
ol
ioJ

|

F

jild

00

0l
ild

40
<+

-

Gl ol e

Li= SAtY SHUZ to-inf(REA)

9]

1]

9]

!

A

U
iy

2 0l

—
Cﬁ

ot

(115 b)E &

s o

A+ SEHN + toREA &

=
S

i0J

IHXI1D AO{OF

11

Rr
Oir

Ul

oJ

}

A
T

It ol0l
¢}

(0]
[y

ALl SHNHZ toREAME Fole &2
(115 a)= 2ZAS SH0UQ! new plansg FTUHZ 6tH formES £S5

|t was attempted to form a new plan.
b. A new plan was attempted to be formed.

(115) a.

I[d
i0J

g

o

c
T

new plan0l Al
Ets AL allow

—

[—

(115 b)

ABE =SS EHOICE.

(116)2 o2

=1
[=]

to formOl A&},
Ct

—

[—

b. No building was allowed to be erected.

. OHXIZH (115 a)

ez o0le =&0| Ch=0.
(116) a. They allowed no building to be erected.

=

SHEMNMC no buildingdl ==S7&22

ol
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S therell REHe +=S7&2

(117) a. Several large package were placed on the table.

b. There were several large packages p/aced on the table.

o

oAl =SPE22 2AHA HAIRI &===2AH(passive participle)l HIZ 20l <
XotHUL 2Z9 0K fXIcteE S JIX Rz 120, dtute There
+be+p.p. + T, 2 (118 2)2 RS2 2 £ AU, U2 btLt= There +

be + =N + p.p.y, 2 (118 b)2 GIEUHA = = UL,

(118) a. There were placed on the table several large package.
b. There were several large package placed on the table.

c. = There were placed several large package on the table.
(Radford 2000:33)

el 2&0l =Ct. CAl 2ol S02 SlAl =S7AE2 28 BAIHE =S=AL €0l

LI 2&2 X2 0lsAIHOF ot= SES Jt&ICH.
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e
i

e

.
H0
rir

(119) a. There was very little tea eaten that evening.

(119

=0

b. There had been gladly a word spoken between him and Lily.

be + =0 + p.p., 220 A

AAE2 UEIUE s=HHEES

HAl= LES 2AHE ¥
FEFLH D QULCH
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HIAl
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HA

A

of

0

e R

=

b om =
1l mAm =< 5
000 Ww 2 Fo=
___mm B o = o W0 oﬂ_r@_ o=
— 33 or M H = H_A e} m =
_I__ b i) T S S = _um = M% o ¢ o+ -
53 s ._ﬂ + Kk H m_._. = KiJ S w @ rm - :_.L_._m , .
w K3 oT = RI . S aT = s g - 2 ol &=
_||,|_ <k = 2 o o ) g O 0H 13! _n_|._ = n|u|._ o o2 + ) m_o
w5 %MM?&? ?MﬂnJra_WmOW F
> X SR 1 o w o 8 5 g o 8 iy o w
o = S i — = <k Jo + © - B S 0 5 SR 0o
% o M o g N N = - 8 wog W<
KR e © 2 W5 o 1 R o = RE© o m ool &
~ = _ © W o2 - o = KU D) K- 5 RO 4_ =
B0 5 ® O + - © 0l0 - Lo s S K R0 =<
mz:_emmo__wol.mm T oA MoEmJJrlxgEo
E_Emjz DT R o o @ = v 3 “
- 110 ] o_:._ WA D ) _ S ] o) —_ = il A_l N — —_ ]
S T = 3n R o < 0H Lc + =< o = o g [rE -
i e < M ioJ m F i+ X |L| U Rl 5 + - <0 10
o__xO__oDI|om reuuo_e T e
:_E|§$m_ m_z_gor,r.ape,é.,ﬂp
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